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EXAMINATION DEPARTMENT

CGPA/SGPA to Equivalent Percentage conversion formula

If CGPA/SGPA is in [4.00, 6.00] then,
Equivalent Percentage = 10 X CGPA or SGPA

If CGPA/SGPA is in [6.00, 9.00] then,
Equivalent Percentage = (05 x CGPA or SGPA) + 30

If CGPA/SGPA is in [9.00, 10.00] then,
Equivalent Percentage = (25 X CGPA or SGPA) — 150

Example: 1. If C‘GPA =5.96 then, Equivalent Percentage = (10 x 5.96)
=59.60%

2. If CGPA = 7.96 then, Equivalent Percentage = {(5 x 7.96) +30}
= 69.80%

3. If CGPA = 9.06 then, Equivalent Percentage = {(25 x 9.06) -150}
-=76.50%
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